Belinda, Bob and Brian
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Hi! My name is Belinda Bell.
I’m a film star. I’'m from
London. I’ve got a flat in
London and a house in
Hollywood, with a swimming
pool. I’ve got a new Rolls
Royce and a lot of money in
the bank. I’ve got a husband
and three wonderful children.
I’ve got a lot of friends. I
think life is great. I’ve got
everything.

My name is Bob Balden. I'm from
Leeds. I’'m a poor man. I haven’t
got any money. | haven’t got a job
or a house or a car. [ haven’t got a
wife, and [ haven’t got any
children. I haven’t got any friends.
My life is terrible. I haven’t got
anything.

NOTE: to have got = to have
He hasn’t got any friends =
He has no friends.

He’s an engineer. (He-is-engineer.)

Look at this man. His name is Brian
Brown. He’s from Oxford. He’s an
engineer. He’s got a good job. He’s
got a small car. He hasn’t got a big
house. He lives in a flat. He’s got a
wife, but he hasn’t got any children.
His life is O K.

| .../ive... in Berlin.

. We . in Denmark.
YOU s in a modern house. . .
) YOU s in a nice town.
He .../ives... abroad. They e at Baker Street.
She oo in San Francisco.
| ...haven't ... got a car. W ) hild
You . got a bad job. € tirrrere e e got any children.
He got many friends YOU s got any money.
"""""""""""" ' They ....cccccccevieeieinneeee... got @ big house.

She ....Aasn't.... got anything.

(American English: | don’t have any kids. She doesn’t have a good job.)

Add the verb BE and the article A or AN (or THE):

Brady D. / banker

Brady D. is a banker.

John K. / taxi driver

Kevin K. / film star

Roger F. / tennis player

Brian B. / engineer

Pamela A. / doctor

Sue W. /teacher

Max and Mike / policemen

Donald T. / President of the USA

Bob B. / gardener

Translate:

Tt T g F= T o TSI =Y I T =TS U | (o SRR
T T N F= T TN oy =TT oI = =1 o 1= o TS PRR
TR IS A=Y T 10 1= T R PRR
Wir haben ein Haus mit einem SChwimmbad. ..........ccooiiiiiiii e e
LAV o = TU T3 )] o USRS
Er hat kein (nicht €iN) groRes HAUS. .......coo ittt et et e e s b e e s mbe e e sneeeenee e sneeaeneeas
Tod T g F=T o TSI T T L= (=T o [ TSP

L TS T 1= 1.0 VO

To ol o 1o T (=Y 10 ) I [T =T 11U USSR




